
WIATA REVELATIO IV
1158 x 589 cm

UWAGA!! 
Przed rozpoczęciem pracy należy szczegółowo

zapoznać się z instrukcją. 

PRZYDATNE NARZĘDZIA



A-A ( 1 : 100 )

A A

2 040221

181 181

11582

5370 1605370160160

29
60

6272

5530
11060

11449



3 040221

20
0

2419
3811

32
59

22
15

5892

19620151602800160



LISTA CZ CI
ELEMENT ILO NR CZ CI

1 1 kant wka 100x200x182 A
2 1 kant wka 100x200x182 B
3 1 kant wka 100x200x5457
4 1 kant wka 100x200x5529
5 1 kant wka 100x200x5564 
6 1 kant wka 100x200x5636 
7 1 kant wka 100x200x5748 A
8 1 kant wka 100x200x5748 B
9 1 kant wka 100x200x5820 A
10 1 kant wka 100x200x5820 B
11 3 kant wka 160x160x1850
12 3 kant wka 160x160x2700
13 2 kant wka 22x120x3172
14 2 kant wka 22x120x3927
15 2 kant wka 22x120x4442
16 2 kant wka 56x120x2150

LISTA CZ CI
ELEMENT ILO NR CZ CI

17 19 kant wka 56x120x2370
18 2 kant wka 56x120x3150
19 19 kant wka 56x120x3762
20 1 kant wka 56x56x2419 A
21 1 kant wka 56x56x2419 B
22 1 kant wka 56x56x3811 A
23 1 kant wka 56x56x3811 B
24 8 uk 38x120x1838Rw1090
25 4 uk 100x120x1583Rw1090
26 3 uk 118x160x2850Rw1880
27 1 uk 88x560x5467Rw5800 A
28 1 uk 88x560x5467Rw5800 B
29 1 uk 88x560x5467Rw5800 C

4 040221

4

28

29

27
26

25
24

18

16

19

17

20
22

2123

15

14

13

12

11

8

10

7

9

3
5

6

2

1

160x160 *1 szt.

10x120 *3 szt.

M14x200 *1 szt.



GONT:
12 pask w
12 pask w
15 pask w

5 040221

16

5370

5370

160

160

160

11220

3120
2800

160

160

M14x180 *2 szt.

M14x180 *2 szt.

M14x180 *2 szt.

M14x180 *2 szt.

M14x180 *2 szt.

M14x180 *2 szt.

M14x350 *1 szt.

M14x350 *1 szt.

M14x350 *1 szt.

M14x350 *1 szt.

M14x350 *1 szt.

M14x350 *1 szt.

11

12 26

27

11

12 26

29

11

12
26

28

. ( 1 : 20 )

AB ( 1 : 35 )



 

 

6 040221

140

140

140

140

6

5 7

9

8

10

5x45 *10 szt.

65x95x95 *1 szt.

5x45 *10 szt.

65x95x95 *1 szt.

10x180 *1 szt.

10x180 *1 szt.

10x180 *1 szt.

5x45 *10 szt.

5x45 *10 szt.

5x45 *10 szt.

5x45 *10 szt.

65x95x95 *1 szt.

65x95x95 *1 szt.

65x95x95 *1 szt.

65x95x95 *1 szt.

8x260 *2 szt.

8x260 *2 szt.

2

1

8



7 040221

3

4

24

24

24

24

16

M14x300 *1 szt.

M14x300 *1 szt.

M14x200 *2 szt. M14x200 *2 szt.

M14x200 *2 szt.

M14x200 *2 szt.

M14x415 *1 szt.

6x160 *2 szt.

6x160 *2 szt.

5x45 *10 szt.

5x45 *10 szt.

1 kpl.

1 kpl.



.

8 040221

55
529 635 635 635 635 635 635 635 635 752 635 635 635 635 635 635 635 529

4x60 *4 szt.

4x60 *4 szt.

4x60 *4 szt.

4x60 *4 szt.

4x60 *4 szt.

4x60 *4 szt.

4x60 *4 szt.

4x60 *4

19

17

18

16

16

18

19

179

8x180 *19 szt.

8x180 *19 szt.

8x180 *9 szt.

35x50x50

8x180*19 szt.8x180*19 szt.

9

AC ( 0,04 : 1 )



 

9 040221

23

21

22

20

50 mm *20 szt.

13

14

15

15

14

13

4x60 *42 szt.

4x60 *42 szt.

4x45*30szt.

4x45*18szt.

4x45*18szt.

4x45*30szt.

4x45*30szt.

160x160 *6 szt.

2000 mm * 12 szt.

10x120 * 18 szt.



10 040221

M14x200 * 8 szt.

M14x350 * 6 szt.

M14x180 * 12 szt.

8x260 * 4 szt.

10x180 * 3 szt.

5x45 * 80 szt.

65x95x95 *6 szt.

6x160 * 4 szt.

M14x300 * 2 szt.

M14x415 *1 szt.

35x50x50 * 19 szt.

8x180 * 85 szt.

4x60*180 szt.

2 kpl.

50 mm
20 szt.

REVELATIO 4

4x45*96 szt.


